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Before beginning to answer a question, its Serial
Number must be written.

4803/(Set : A) P.T.O.
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(2) 4803/(Set : A)
o FTCYRTHE % T 7 @l g/ 9 T 8Ig)

Don’t leave blank page/pages in your answer-book.

o JUTyRTE % GfaRFT #E o dic TE Al o
STEETFE & rE SiT forar Fav 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o TR Gy T To FIT-GF YT HFT [or@)

Candidates must write their Roll Number on the
question paper.

o YUY J9T F FAV 37 @ 7 I8 GlEd-#T & [ JeT9H
g7 g @& & e ® W 59 g9 7 -Hg W amar
@B 7ol [T A3

Before .answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

AT 3T :
General Instruction :
()  &H T a8
All questions are compulsory.
(i) 3G FFT-GH F F7 32 F97 & 7 [F AT G
gaovedae @e:
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:

4803/(Set : A)

Previous Pathshala




(3) 4803/(Set : A)

G & 5T G F1 716 7% 7 16 F97 &,
T4 g97 1 3% FT &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

%€ §: 357§ F17 21 T 375 J97 &,
J9% G973 3% #T 81

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G ;39 G §22 § 27 T FT 6 F97 5,
T9% 97 & 5% P &1

Section C : There are 6 questions from 22
to-27, each of 4 marks.

G987 : 57975 4 28 @82 T FA 5 77 8,
J9% J97.5 Ol 18l

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) &9 § T & go7i 7 oyR® Rwey [T 1 &
37 @ Q& 797 & g7 81

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4803/(Set : A) P.T.O.

Previous Pathshala




(4) 4803/(Set : A)
gus - A
SECTION - A

1. 0.375ﬁg%wﬁmaﬁﬁm 1

Express 0.375 in the form g

2. 6x%-7x-3% & ¢ : 1
1 3
A —-—, —
(A) )
7 3
B -— —-—
(B) B \2
7 3
€ —, ==
6 6
(D) M 9 FE.-Tel
The zeroes of 6x2—7x—3 AKE
1 3
A —-——, =
(A) 3’ b
7 3
(B) _57 _6
7 3
< - —=
6 6

(D) None of these

4803/(Set : A)

Previous Pathshala




(5) 4803/(Set : A)

3. x+y:14,x—y:43lv:[€ﬁf3f§|i?m 1
Solve :
x+y=14, x-y=4

4. HE-G @ 0 A P. B ? 1
A) 2,4,8,12, .......
(B) 0.2,0.22,0.222, ......
(C) -10,-6,-2, 2, ......
(D) 1,3,9,27, ...

(A2, 4,8, 12, ...,

(B) 0.2,0.22;0.222, \....|

) §' X4 1 &

5. 2,7,12, ...... “A. P. & 1091 U% 3G HioT 1

Find the 10th term of A. P. 2, 7, 12, ...... .

6. HICh H RU =] § | T& A= B T4 HA 8, R

M H 9RT : 1
NG e B Bl (TartTe, wHeT)
4803/(Set : A) P.T.O.

Previous Pathshala




(6) 4803/(Set : A)

Fill in the blank using correct word given in

bracket :

All circles are ............ . (congruent, similar)

7. & TIEY DS H OGEIRT & UG 4 : 9 8, A I

Bl Bl STU & 1
(A) 16:81 (B) 8:18
(C) 81:16 D) 12:27

Sides of two similar triangles are in the ratio 4 : 9.

Areas of their triangles are in the ratio :
(A) 16:81 B) 8:18

(C) 81:16 (D) 12 : 27

8. R I wHEY By & aEwa HAT: 36 WP WK
121 412 &, @ 37ehl |G eI 6 I © 1

A) 11:6
B) 6:11
(€ 9:11
(D) & @ FHg T

4803/(Set : A)

Previous Pathshala




(7) 4803/(Set : A)

If the areas of two similar triangles are 36 m?
and 121m? respectively, the ratio of there
corresponding sides is :

(A) 11:6 B) 6:11
(C) 9:11 (D) None of these

9. Uh fg O § Th g0 W Wl 1@ Hl Teg 24 JT e
Q  F= | 30 25 T &1 g9 H Brewr 7 Hw 1

From a point Q, the length of tangent to a circle
is 24 cm and distance of Q from centre is 25

cm. - Find the radius of circle.

10. (2, 8) &Y (4, 1) fogelt & ol gfr-ai iy 1

Find the distance between the points (2, 3) and
(4, 1).

11. 3R @S & 7 g (3, 4) ¢ Fw @& R™
(7,-2) 8, @ g MR @1 FRai® &g 7@ sivm 1

If (3, 4) is mid point of the line segment whose
one end is (7, —2), then find the coordinates of

the other end point.

4803/(Set : A) P.T.O.
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(8) 4803/(Set : A)

12, B0 oo o i 1
cot25°
Find the value of tan65 .
cot25°
13. ZlﬁsinA:%,?:ﬁcosA%I 1
4 N7
A — By —
J7 4
3 |
Cc) — D H Pig el
© & (D).~ & *1E
\ 3 .
If sinA :Z’ then cos Ais :
4 7
(a) = gk
V7 4
(C) o (D) None of these
J7

14. B 4 99 a9 O g9 @ Brous @ awd S
HiTT, FTEeE BT 30° 1 (= 3.14 % FANT FHivW) 1

Find the area of a sector of a circle with radius

4 cm, if angle of the sector is 30°. (Use n = 3.14)

4803/(Set : A)

Previous Pathshala




(9) 4803/(Set : A)
15. TET S B YR H A 2r & a1 I SHas h

T T T a6 | 1
A)  nrlh

(B) 2nrh

(C) 2mr(r+h

(D) = & HE T

The diameter of the base of right circular
cylinder is 2r and its height is h. The curved

surface area is :

(A)  nrlh
(B) 2nrh
(C) 2nr(r+h

(D) Nomne of these

16. TF ¥ § 3 el T, 2 Tha g X 4 A g & AR
T & I0 9§ IERes Fel T R, O 56 qoe em
% TeheT FM BN 7 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
White ?

4803/(Set : A) P.T.O.

Previous Pathshala




17.

18.

19.

20.

(10) 4803/(Set : A)
ges - §

SECTION -B

R BT % V2 Th HAURAT HE&A B 3

Prove that \/5 is an irrational number.

Igua p(x)=3x3+x2+2x+5 &l EERE
gx)=x%>+2x+1 & W 9F T HqOHA SR
AYERST FTT BITSTY 3

Divide the polynemial p(x)= 3x3 +x% +2x+5
by the polynomial g(x)= x2>+2x+1. Find the

quotient and remainder.

90 THI #I Wz Al Uh Wehl ol UF TN B
AR W 1.2 H/8. F 99 § 99 @ &l IR T
9 ¥ 3.6 H'@ TR T2, A 4 GBS T& o9 ASH!
P BT P A ST DT 3

A girl of height 90 cm is walking away from the
base of a lamp-post at a speed of 1.2 m/s. If the
lamp is 3.6 m above the ground, find the length

of her shadow after 4 seconds.

s #ifeg - 3

seC A(l —sin A) (secA+tan A) =1

4803/(Set : A)

Previous Pathshala




21.

22.

23.

(11) 4803/(Set : A)

Prove that :

seCA(l —sin A) (secA+tan A) =1

I B R S P oTee 8%d 6.16 9281 3

Find the circumference of a circle whose area is
6.16 cm?.

qls - q
SECTION - C

T HITT 4
5 1 S 6 3

+ = _—

x-1 y-2 o o A7

Solve :

5 1 6 3
_+_

x=1l y-2 x-1 y-2

Th Hied-aie, fras o) o & g 18 5 /ave §,
24 fHl 90 &% Widge SN H, 9@ g0 4R % TR
M @ omem 1 ger offYe ol B T A S
I 4

4803/(Set : A) P.T.O.
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24.

25.

26.

27.

(12) 4803/(Set : A)

The speed of motor-boat is 18 km/h in still
water. It takes one hour more to 24 km
upstream than to return downstream the same

distance. Find the speed of the stream.

A. P.: 24,21, 18, ...... % fhaq ug R S, qife
I AT 78 7 4

How many terms of A. P. : 24, 21, 18, ......

should be taken so that their sum is 78 ?

el T forg & 99 W die . st et @ awEdt
I 2l 8, s #if 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

g (-4, 6), Torgstl A(-6,.10) ST B(3; =8) &l s+
qrel T@ETS &l S STUI H [ Bl B 4
In what ratio does the point (-4, 6) divides the
line segment joining the points A(-6, 10) and
B(3, -8).

I TR ° Bl T3 52 T B U TgS H | T Il
frepret ofar 31 WRERaT S FINT fF ¥E W O() T
TRT BT, (ii) T AT STel &I 4

4803/(Set : A)
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g - T
SECTION - D
28. T & & & ff & FH 2x2 -5x+3=0 &
& Ty 5
Solve the equation 2x2 -5x+3=0 by
completing the square method.
29. 4 {4, 58 3R 6 THI YoM A T RIS B =
Hio iR e s6% a9ed | T ofFF BIgS & &
o . 2
Eﬁliﬁ%ﬁlﬂﬂ%ﬂﬁmﬁq:@ﬁgﬁaﬁw*ﬂmﬁaﬁg
T & 5
Construct a triangle whose sides are 4 cm, 5 cm
and 6 cm and construct a similar triangle whose
sides are %th of the corresponding sides of
given-triangle.
30. frs &I : 5
sin0+cos0-1 1
sinf@-cosf+1 secO+tan6
4803/(Set : A) P.T.O.

(13) 4803/(Set : A)

One card is drawn from a well-shuffled deck of
52 cards. Calculate the probability that the card

will (i) be an ace, (ii) not be an ace.

Previous Pathshala




31.

(14) 4803/(Set : A)

Prove that :

sin0+cos0-1 1
sin-cosO+1 secO+tanO

AYqT
OR

1.2 H @ ok T g F 88.2 W H FAE W
Afst Y@ & g1 § 9% W@ [ER # @l o B S
8T ASH B A § [EAR B ST BT 60° H ol
B THI G SIA BT HEHT 30° @ S & 3
5 RS TG R ) RS- R 7 B AU | |

A 1.2 m tall girl spots a balloon moving with the

wind in a horizontal line at a height of 88.2 m
from the ground. The angle of elevation of the
balloon from the eyes of the girl at any instant is
60°. After some time; the angle of elevation
reduces to 30° Find the distance travelled by

the balloon during the interval.

a oL, B A Ud% B EEE 64 AU B, & Hore
il Bl AT T SS90 ST 81 399 WS g
H T SAEA G BT 5

4803/(Set : A)
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(15) 4803/(Set : A)

Two cubes each of volume 64cm3

are joined
end to end. Find the surface area of the resulting

cuboid.

32. M fear gom de Uk FEM & 30 fqEmE @ 9 aw
@l B faeniiEl & qrems WS ST 5

AR (fFomo #)|40-45|45-50 |50-55|55-60 | 60-65 | 65-70|70-75

feenféiat 2 3 8 6 6 3 2
g

The distribution below gives the weight of 30
students of a class. Find-the median weight of

the students :

Weight (in kg) { 40-45 | 45-50'| 50-55{.55-60 | 60-65 | 65-70 | 70-75

Number of 2 g 8 6 6 3 2
Students
I
OR
frdl fiecd & 25 TRART # Ao W Y e 2
Ao T GAT WA FF A FHio

g (§o ) |100-150|150-200/200-250|250-300|300-350
et & ger 4 5 12 2 2

4803/(Set : A) P.T.O.
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(16) 4803/(Set : A)

The table below shows daily expenditure on food
of 25 households in a locality. Find the mean

daily expenditure :

Expenditure (in Rs.) 100-150(150-200[200-250{250-300| 300-350

No. of households 4 5 12 2 2

4803/(Set : A)

Previous Pathshala
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Time allowed : 3 hours | [ Maximum Marks : 80
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797 32 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o Jo7-UF H afed & # Y [7 T8 HS T 7ol G #H
B -Gl & JE-ge 7 @)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

o ZYY o7 F FIT [0GT & FT G GEl, FT FH HHE
ST [1E]

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4803/(Set : B)
o FTCYRTHE % T 7 @l g/ 9 T 8Ig)

Don’t leave blank page/pages in your answer-book.

o JUTyRTE % GfaRFT #E o dic TE Al o
STEETFE & rE SiT forar Fav 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o TR Gy T To FIT-GF YT HFT [or@)

Candidates must write their Roll Number on the
question paper.

o YUY J9T F FAV 37 @ 7 I8 GlEd-#T & [ JeT9H
g7 g @& & e ® W 59 g9 7 -Hg W amar
@B 7ol [T A3

Before .answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

AT 3T :
General Instruction :
()  &H T a8
All questions are compulsory.
(i) 3G FFT-GH F F7 32 F97 & 7 [F AT G
gaovedae @e:
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:

4803/(Set : B)

Previous Pathshala




(3) 4803/(Set : B)

G & 5T G F1 716 7% 7 16 F97 &,
T4 g97 1 3% FT &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

%€ §: 357§ F17 21 T 375 J97 &,
J9% G973 3% #T 81

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G ;39 G §22 § 27 T FT 6 F97 5,
T9% 97 & 5% P &1

Section C : There are 6 questions from 22
to-27, each of 4 marks.

G987 : 57975 4 28 @82 T FA 5 77 8,
J9% J97.5 Ol 18l

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) &9 § T & go7i 7 oyR® Rwey [T 1 &
37 @ Q& 797 & g7 81

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4803/(Set : B) P.T.O.

Previous Pathshala




(4) 4803/(Set :

qis - A
SECTION - A

1. 0.104ﬁ§%wﬁmaﬁﬁm

Express 0.104 in the form q

p

2. 4x% - 4x+1% IIF ¢ :

(A)

(B)

(©)

(D)

(A)

(B)

©)

(D)

4803/(Set :

Previous Pathshala

B)



(5) 4803/(Set : B)

3. x—y=3,§+%=6aﬁaﬁrqﬁﬁm 1
Solve :
X Yy
x-y=3, -+==6
Y=< 37,
4. HT-G1 T JM A. P. 2 ? 1
A 1,2,4,8, .......

B) 5,8,12,15, ......

() 3,6,9, 12, ......

(D) T & Hi3 T

Which one is an A. P.series ?
A) 1,2,4,8,.......

B) 5,8,12, 15, ...

(o) K: A WO & w»

(D) None of these

5. 7,10, 13, 16, ...... A.P. 3 1297 Ug 519 didvm@ 1

Find the 12th term of A. P. 7, 10, 13, 16, ...... .

6. Hoh § U =&l § 9 L U= B TGN B g, R

WM # 9RY 1
gl @t o B &l (qerem, watmew)
4803/(Set : B) P.T.O.
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(6) 4803/(Set : B)

Fill in the blank using the correct word given in
bracket :

All squares are ............ . (similar, congruent)

7. & TS DS H SRl & UG 3 : 58, Al o

Bl Bl STU & 1
(A) S5:3 B) 9:25
(C) V3 :+5 (D) = q FE T

Sides of two similar triangles are in the ratio 3 : 5
areas of their triangles are in the ratio:

(A) 5:3 (B) '9:25

(@) NETENE (D)" None of these

8. It DE || BC3AR AD :BD=27:3, @ &% (AADE) :

8% (AABC) B 1
(A) 2:5
B) 3:5
(C) 4:25
(D) 2:3

4803/(Set : B)

Previous Pathshala




(7) 4803/(Set : B)

If DE || BCand AD : BD = 2 : 3, then area (AADE)
: area (AABQ) is :

A) 2:5
B) 3:5
(C) 4:25
D) 2:3

9. % g 4 TF g0 W Wl W il a6 4 8§ iR
g @l 99 & &= @ g0 5 & 81 g9 @ B &
I 1

The length of tangent from a point which is at a
distance of 5 cm from the fcentre. of circle is
4 cm. Find the radius of circle.

10. (-5, 7) 8% (-1, 3) oga®t & % &I g0 &g Fibmr 1

Find the distance between the points (-5, 7) and
(_17 3)

11. IR 0F @A & & B 0@ g & e 19 iy
(1,0) %, TR RR &1 s a1 Hikm 1

If origin is at one end of a line segment whose
mid point is (1, 0), find the coordinates of other

end of segment.

4803/(Set : B) P.T.O.
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12.

(8) 4803/(Set :

tan26°
cot 64°

N qH S HioT|

tan26°
cot 64°

Find the value of

13. I sinAzg, Atan A T :

14.

w B

©) % (D) &8 & B &
If sinA =%, then tan Ais':

) 2 (B) %

(©) % (D) None of these

B)

6 O Bodl i U g9 & PeuEre @ 8uwd S

FHITT ST BT 60° B

1

Find the area of a sector of a circle with radius

6 cm, if angle of the sector is 60°.

4803/(Set : B)

Previous Pathshala




(9) 4803/(Set : B)
15. T S B YR H A 2r & a1 3% SHas h

g, TRl IO A © 1
(A) 2nrh

(B) 2nr(r+h)

(C) nrh

(D) T @ Fi§ Tl

The diameter of the base of right circular
cylinder is 2r and its height is h. The total

surface area is :

(A)_2nrh
(B)  2nr(r+ h)
(C)  nrh

(D) None of these

16. UH 9 H 3 Tl g, 2 e dE AR 4 O g &1 IR
% T I | qERES FErl A E, O ga 99 e
& T FT BT 7 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
Blue ?

4803/(Set : B) P.T.O.

Previous Pathshala




17.

18.

19.

20.

(10) 4803/(Set : B)
ges - §

SECTION -B

R BT % V3 Th FAURAT HE&A B 3

Prove that \/5 is an irrational number.

ERSEY p(x):3x2—x3—3x+5 &l EERE
gx)=x—1-x2 B W AFT HIOTW AFHA AR ATHA
EIREEISIY 3

Divide the polynomial p(x)= 3x2 = x>=3x+5
by the polynomial ¢g(x)=x=1- x2 .~ Find the

quotient and remainder.

CM AR _RN %H9T: . AABC 3X APOR %l #ifFsl & afe
AABC ~ APORE, I fia #ifvw & : 3
AAMC ~ APNR

CM and RN are respectively the medians of
AABC and APQR. If AABC ~ APQR, prove that :

AAMC ~ APNR

s #ifeg - 3

cotA—-cosA cosecA-1
cotA+cosA cosecA+1

4803/(Set : B)
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21.

22.

23.

(11) 4803/(Set : B)
Prove that :

cotA—-cosA cosecA-1
cotA+cosA cosecA+1

gq P &GS T 5, ST G 11 T GO 9 & B
qiRET & SREX ® 7 3

What is the area of the circle, the circumference
of which is equal to the perimeter of a square of

side 11 cm ?

qis - 9

SECTION - C

g+§=13 and E_i:_g
x Yy x Yy

TF (@S U6 @9F 9 § 360 fEH @ g0 d@ &l
21 3 7' 9w 5 fRH/gver oife B, O a8 SE aEn
g 1 g7 %9 9 Jall ISl B 91 o i 4

4803/(Set : B) P.T.O.
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24.

25.

26.

(12) 4803/(Set : B)

A train travels 360 km at a uniform speed. If the
speed had been 5 km/h more, it would have
taken 1 hour less for the same journey. Find the

speed of the train.

A.P.:9, 17,25, ...... 3 fopaw Ug fetT oM, afeh S
T 636 8 ? 4

How many terms of A. P. : 9, 17, 25, ...... should

be taken so that their sum is 636 ?

el A forg & g o dien R e et @ awrsar
SR Bl 8, frs i 4

Prove that the length of tangents drawn from an

external point to a circle are equal.

Y g & Masi® §q s st faget (4, -3) &R
(8, 5) Pl S Al @IS P idARe €4 § 3: 1%
YA fasioid B B 4

Find the coordinates of the point which divide
the line segment joining the points (4, —3) and

(8, 5) in a ratio 3 : 1 internally.

4803/(Set : B)

Previous Pathshala




27.

28.

29.

(13) 4803/(Set : B)

Th g/ H 4 99, 3 % X 2 @@ F (marbles)
T AR T § q UF Pl AT W S &,
THH FT WA B % g8 F (i) 9% 2 (i) e
(iii) ST B 4

A box contains 4 blue, 3 white and 2 red
marbles. If a marble is drawn at random from
the box, what is the probability that it will be
(i) White (ii) Blue (iii) Red.

guE -
SECTION = D

T 9 E H A & T 5x% {6x-2=0 H
& Il 5
Solve the equation 5x7 =6x =2 =0 by
completing the square method.

5 A9, 6 I SR 7 [l TS AW T BS B T
HIT AR T 980 Uh o B & @ Hil

Rreest et R B¢ Byt @ g el @~ T A
5
5

Construct a triangle whose sides are 5 cm, 6 cm
and 7 cm and construct a similar triangle whose

sides are gth of the corresponding sides of

given triangle.

4803/(Set : B) P.T.O.
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30.

31.

(14) 4803/(Set : B)
R #ifvT 5

CosA-sinA+1
cosA+sinA-1

=cosecA +cot A

Prove that :

CosA-sinA+1
cosA+sinA-1

=cosecA +cot A

HAYAT
OR

Th T &b Q9 d T Sy GRS gy e &
ST IO FAM: 30° X 45° T A YT FHRT & 3
Hiex & SR T 81, O TE B SR s B

From a point on a bridge across a river, the
angle of depression of the banks on opposite
sides of the river are 30° and 45° respectively. If
the bridge is at a height of 3 m from the banks,
find the width of the river.

T T Th QEd AT & STHEX B & PEDh IR
T GEe o TR Bl TN # A 14 S &
A 3@ T H FA HaR 13 T B 3T T @
NS TOF &% 3 HioT| 5

4803/(Set : B)
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(15) 4803/(Set : B)

A vessel is in the form of a hollow hemisphere
mounted by a hollow cylinder. The diameter of
the hemisphere is 14 cm and total height of the
vessel is 13 cm. Find the inner surface area of

the vessel.

32. HfRaa arelt | I &9 & el | Afear farewhi
% U S @SSl 81 afedr et & arer ufde
ST SHITT 5

aigar farmel #1| 15-25|25-35 [35-45{45-55|55-65 | 65-75 |75-85
IR

o @ @& | 6 11 7 4 4 2 1

The table below gives the percentage distribution
of female teachers in the schools of rural areas.

Find the mean percentage of female teachers :

Percentage of | 15-25|25-35|35-45|45-55|55-65|65-75|75-85

female teachers

Number of 6 11 7 4 4 2 1

areas

4803/(Set : B) P.T.O.
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(16) 4803/(Set : B)
UG
OR

fr=ifaiad IRaRaT de7 5t Ao & Ao & i
QU AT 31 39 S H G0 ST HINTT

¥ @4 | 65-85 | 85-105|105-125[125-145/145-165|165-185
(zeprt #)
PRI G 4 5 13 20 14 4

% HE

The following distribution gives the monthly

consumption of consumers-of alocality. Find the

median of the distribution :

Monthly 65-85(85-105|105-125(125-145/145-165|165-185
Consumption

(in Units)

Number of 4 B 13 20 14 4

Consumers

4803/(Set : B)
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(2) 4803/(Set : C)
o FTCYRTHE % T 7 @l g/ 9 T 8Ig)
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Before .answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

AT 3T :
General Instruction :
()  &H T a8
All questions are compulsory.
(i) 3G FFT-GH F F7 32 F97 & 7 [F AT G
gaovedae @e:
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:
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(3) 4803/(Set : C)

G & 5T G F1 716 7% 7 16 F97 &,
T4 g97 1 3% FT &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

%€ §: 357§ F17 21 T 375 J97 &,
J9% G973 3% #T 81

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G ;39 G §22 § 27 T FT 6 F97 5,
T9% 97 & 5% P &1

Section C : There are 6 questions from 22
to-27, each of 4 marks.

G987 : 57975 4 28 @82 T FA 5 77 8,
J9% J97.5 Ol 18l

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) &9 § T & go7i 7 oyR® Rwey [T 1 &
37 @ Q& 797 & g7 81

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4803/(Set : C) P.T.O.
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(4) 4803/(Set :
gg - I
SECTION - A

1. 0.0875 & g & &Y § @ Hikg

Express 0.0875 in the form g

@A) -1, —%

® 1-3

CNELS

o) 13

The zeroes of 3x2 —x—4 are:
A -L-3

B) 1, —%

© -1

o 1

4803/(Set : C)
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(5) 4803/(Set : C)
3. x+y=53N 2x -3y =4 F & HION 1

Solve :
x+y=5and 2x-3y=4

4. HF-G T 9 A. P. B ? 1
A 1,3,9,27, .......

B) a, 2a, 3q, 4aq, ......
C) aq, a2, a3, a4, ......

(D) 12, 22, 32, 42, ..

A 4, o 2ilin

B) a,2a, 3a 4a ......
<) a a2, a3, a4, ......
O 18 78 8°R & W™~

5. 10,7, 4, ... A. P. & 304l Ug Sd i) 1
Find the 30th term of A. P. 10, 7, 4, ...... .

6. Hosh H QU =l § § TR 9= H TAN HA g, N

T &l 9RT 1
(5 AU Broet aweg @0 81 (wwfEeTg, @)
4803/(Set : C) P.T.O.
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(6) 4803/(Set : C)

Fill in the blank using the correct word given in
bracket :

All ............ triangles are similar.

(isosceles, equilateral)

7. A THET B & S%al B A 4 : 58, @ ITh

TG eIt 1 A 8 1
(A) 16:25 B) 5:4
(C) 4:35 (D) 2:+5

Areas of two similar triangles are in the ratio of
4 : 5, then the ratio of their corresponding sides is :

(A) 16:25 (B) 5:4
(€) 4:5 (DY 225
8. B H AB || OR, AB =3 ¥, OR = 9 &9l X
PR = 6 @4, PB &l TE & : 1
P
A B
o) R
(A) 4 q (B) 3 W
(C) 2 (D) 378 q Fi3 &

4803/(Set : C)
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(7) 4803/(Set : C)

In figure, AB || QR, AB=3 cm, QR =9 cm and
PR = 6 cm, the length of PBis :

P
A B
Q R
(A) 4cm (B) 3 cm
(C) 2cm (D) None of these

9. P f3g 4, g0 W wWf W@ F TR 12 R AR HH
P 3l gl 13§l &1 g9 & Fod 7 S 1

From a point P, the length of tangent to a circle
is 12 cm and distance of P from centre is 13 cm.
Find the radius of circle.

10. (-1, 5) 8K (7, 8) Brgall & &= &1 g @ i@ 1

Find the distance between the points (-1, 5) and
(7, 3).

11. A % fRui® a0 HIPW, el AB g & &M & e
% (2, -3) 8 AN B(1, 4) B 1

Find the coordinates of A, where AB is diameter
of circle whose centre is (2, -3) and Bis (1, 4).

4803/(Set : C) P.T.O.
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cos 37°

(8) 4803/(Set :

12. H A S T
sin 53°
Find the value of cos 37 .
sin 53°
8 ;
13. IR cotA=-——, AsinA®:
15 8
A) — B —
(A) 17 (B) T
15
(C). — (D) &8 & 13 &l

8

If cotA :%, then sin Ais:

15 8
A) — B =
(A% | 8 B) -
15
C) — (D) None of these

8

14. 39 & 9RfY 22 &9 31 g9 & B s i

C)

Circumference of a circle is 22 cm, find the

radius of the circle.

4803/(Set : C)
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(9) 4803/(Set : C)
15. T S B YR H A 2r & a1 3% SHas h

T I H A T 1
(A) 2nr(r+ h)

(B) nrh

(C) 2nrh

(D) & @ FH T

The diameter of the base of right circular
cylinder is 2r and its height is h. The volume of

cylinder is :

(A) 2nr(r+h
(B) nr’h
(C) 2nrh

(D) None of these

16. TF ¥q § 3 Tl T, 2 9%c T X 4 @ AT &1 AR
% T A7 § ABREd M S R, o 36h A em
%l TReear T B8R 7 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
Red ?

4803/(Set : C) P.T.O.
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17.

18.

19.

20.

(10) 4803/(Set : C)
ges - §
SECTION - B

Rz T % 5 Th HURAT HE&A Bl 3

Prove that \/g is an irrational number.

ERSEY p(x):x3—3x2+5x—3 e SgUs
glx)=x%-2 B TN A FOW GEET TR ATHA
S I 3
Divide the polynomial ' p(x)= x°-3x% +5x-3
by the polynomial g(x)= x?>—2: Find the

quotient and remainder.

6 Hlo R Al Th SHegl & &g T B/l &
TR 4 Hio BI-S€%h 34 HY Th HHR- W B>l H
TR 28 Hio B HMK & HAr 5. il 3
A vertical pole of length 6 m casts a shadow 4 m
long on the ground and at the same time a tower
casts.a shadow 28 m long. Find the height of the

tower.

s i 3
sinO0-cos0+1 1
sin®+cos®-1 secO-tanH

4803/(Set : C)

Previous Pathshala




21. IS TP @ URY 72 T B IHH FFABA G
BT 3
The circumference of semi-circular piece of
design is 72 cm. Find its area.
g - §
SECTION - C
22. Lo liogr Vi _Bamatm 4
2x 3y 3x 2y " 6
Solve
L+L=2 and L+i:E
2x C30 3x 2y 6
23. 399 qd @AM & g (A H) F FohH (reciprocal)
@Tmﬁsaq‘qaaﬁa@%sgwrwm%%
IEH! A Y A BT 4
4803/(Set : C) P.T.O.

(11) 4803/(Set : C)

Prove that :

sinO@-cos0+1 1

sin@+cos®—-1 secH-tan®
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24.

25.

26.

(12) 4803/(Set : C)

The sum of the reciprocal of Rehman's age (in
years) 3 years ago and S years after from now is

%. Find his present age.

TH JH 40 o YUIBl HT AT ST HOIC S 6 F foeew
2 4

Find the sum of first 40 positive integers
divisible by 6.

Rrs #ifvTT % 0% 9o &t Siiar & RRE o efe ™ et
@ ST | TS HIOT T B 4

Prove that the tangents drawn at the ends of a
chord of a circle make equal angles with-the

chord.

gl (-3, 10) @R (6, -8) & e A WETS &
g (<1, 6) fba omua § fawiom #ear ® ? 4

In what ratio does the point (-1, 6) divides the
line segment joining the points (-3, 10) and

(6, -8).

4803/(Set : C)
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27.

28.

29.

(13) 4803/(Set : C)

T T P Th g BH A 2| Frmad S o &
P MRAHAT ST BT (i) TH AT T (i) 2 R 6 B
drg Rea 18 g (i) T faww g 4
A die is thrown once. Find the probability of
getting (i) a prime number (ii) a number lying
between 2 and 6 (iii) an odd number.

gug - §
SECTION — D

Tf @ T T 2x% - 7x+3=0 ® &
T 5

Solve. the equation 2x% ~7x$+3=0 by
completing the square method.

YR 8 T X SR 4.4 & Th THfESE HGS A
A HIOT AR R Th-o B @ o $iTg,

maaﬁwwma@agwﬁwwﬁam%
T & 5

Construct an isosceles triangle whose base is
8 cm and altitude 4 cm and then another

. . 1 .
triangle whose sides are 15 times the

corresponding sides of the isosceles triangle.

4803/(Set : C) P.T.O.
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(14) 4803/(Set : C)
30. &g #E : 5

cos 0 cos 0

— + - =2secH
1+sin® 1-sin®

Prove that :

cos 0 N cos 0
1+sin® 1-sin®

=2secO

AY4ql
OR

HH W & TF I$ g@ S 5 ST T O A W
e s Sl & {6 IS H Ry SHH &l 8 R 8
AR EE 30° & HV gL 81 IS & 96 a5 H g,
STel Ug &1 e SHIN P 8dl &, 8 Mo 81 YA FAR
S il

A tree breaks due to storm and the broken part
bands so that the top of the tree touches the
ground making an angle 30° with it. The
distance between the foot of the tree to the point
where the top touches the ground is 8 m. Find
the height of the tree.

4803/(Set : C)
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(15) 4803/(Set : C)

31. % faai Brer 3.5 9 a1 OF 9 & SR W 8, S
S e A U ST WX TN § 36 Raw @l

ﬂqﬁwﬁlssﬁ%wiﬁﬁﬁwww
EERIEIRIET B

A toy is in the form of a cone mounted on a
hemisphere of radius 3.5 cm. The total height of
the toy is 15.5 cm. Find the total surface area of
the toy.

32. 0% e FRR™ & 100 HIH  (surnames) ferg
T I NgE SN dOiHleT & SRl W HE &
Frtfoer TSRl Sew AT gef

e B ger | 1-4 | 47 }7210 |10-18|13-16|16-19
ATl B G| 6. |80 | 40 |16 |4 4

FRTAH] b HIETH SERT I T S i 5

100 surnames were picked from a telephone

directory and the frequency distribution of the
number of letters in the English alphabets in the

surnames was obtained as below :

Numberof | 1-4 | 4-7 | 7-10|10-13|13-16|16-19

Letters

Number of | 6 30 | 40 | 16 4 4

Surnames

Determine the median number of letters in the

surnames.

4803/(Set : C) P.T.O.

Previous Pathshala




(16) 4803/(Set : C)

AYqT
OR

fr=foiaa offee 75 faorell Sumen & IR Share
(g2t ) @t g W E

Gﬁaﬂzﬁlﬁ 0-20 20-40 [40-60| 60-80 80-100 |100-120
(goct )

JRIRCT 10 15 12 21 8 9

SUHIN I AT ST S, BT

The following data gives the information on the

life-time (in hours) of 75 electrical instruments :

Life-time (in | 0-20(20-40|40-60| 60-80 | 80-100 [100-120

hours)

Frequency | 10 15 12 21 8 9

Find the mean life time of the instruments.

4803/(Set : C)
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4803/(Set : D)
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(3) 4803/(Set : D)

G & 5T G F1 716 7% 7 16 F97 &,
T4 g97 1 3% FT &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

%€ §: 357§ F17 21 T 375 J97 &,
J9% G973 3% #T 81

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G ;39 G §22 § 27 T FT 6 F97 5,
T9% 97 & 5% P &1

Section C : There are 6 questions from 22
to-27, each of 4 marks.

G987 : 57975 4 28 @82 T FA 5 77 8,
J9% J97.5 Ol 18l

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) &9 § T & go7i 7 oyR® Rwey [T 1 &
37 @ Q& 797 & g7 81

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4803/(Set : D) P.T.O.

Previous Pathshala




(4) 4803/(Set : D)
gls - H
SECTION - A

1. 0.125ﬁ§%wﬁmqﬁﬁm 1

Express 0.125 in the form g

2. 3x% +4x+1% J9F © : 1
I
B).-1
©) 1-
D) L

The zeroes of 3x2 +4x+1 are :

& -1,-+

8
® -1
© -3
o) 1

4803/(Set : D)
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(5) 4803/(Set : D)

3. 3x+4y=103FX x— y =1 & i1 1
Solve :

3x+4y=10and x-y=1

4. -9 T AN A.P. R ? 1

(A) -1.2,-3.2,-5.2, .......
B) 2,5,7,0, ......

(C) 1,22%,3%2, 4%, ...

(D) T § ®iE T

(A) -1.2,-3.2,-5.2, ......,
B) 2,5,7,9, ...

7] 9= ke, Y B

(D) None of these

Find the 11th term of A. P. -3, —%, 2, s .

6. Hoh 7 U =] § 9 L A= B TGN wA g, R

W Hl qRT : 1
oleT H FEM G A & 98 §HEY B 8, AR
B T BT .. & (SRR, geTgR)
4803/(Set : D) P.T.O.
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(6) 4803/(Set : D)

Fill in the blank using correct word given in

bracket :

Two polygons of the same number of sides are
similar, if their corresponding angles are

............ . (equal, proportional)

7. I THET B & SFGAl B ST 7 : 3 3, A I

T TS B ST ¢ 1
(A) 7 : 3 B) 7:43
(C) 7 : 3 (D) 59 9 H1E el

Area of two similar triangles are in the ratio of 7 : 3,
then the ratio of their corresponding sides is:

@A) 7 : /3 (B) 7:+3

(C) JT/3 (D) None of these

8. AR A FTEY BgS H Gomel & AU 5: 7 8, A A

BIegett & &FThal ST © 1
&) 15:14 (B) 25:49
(C) 49:25 (D) T & Pg e

4803/(Set : D)
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(7) 4803/(Set : D)

If sides of two similar triangles are in the ratio
5 : 7, then areas of their triangles are in the

ratio :
(A) 15:14 (B) 25:49
(C) 49:25 (D) None of these

9. T fg 8 Th g0 W wWsl W % THE A &
Rl g & &= § 30 25 961 &1 g9 & Brear 7 &
& & 3l 1

Find the length of tangent drawn from a point
whose distance from the centre of ‘a circle is

25 c¢m. Given-the radius of circle is 7 cm.

10. (1, -3) IR (4,1) [geff & &9 &l g8 s @b 1

Find the distance between the points (1, -3) and
(4, 1).

11. 3@ETS & TG oA S BEs R (4, 5) AR
2, -1) Bl 1

Find the mid point of the line segment whose

end points are (4, 5) and (2, -1).

4803/(Set : D) P.T.O.
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12.

(8) 4803/(Set :

tan25°
cot 65°

N qH S HioT|

tan25°
cot 65°

Find the value of

13. IR cotAz%, A sec AT

14.

17 8
(A) 5 (B) 17
(C) % (D) 358 3 e

If cotA :%, then sec Ais":

17 8
A) = B) —
@ Gl
15
(C) 1% (D) None of these

D)

21 991 Boar o Uk g9 & BreurEve & &% §id

I, I GUE H HT 60° Bl

1

Find the area of sector of circle with radius

21 cm, if angle of the sector is 60°.

4803/(Set : D)
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(9) 4803/(Set : D)
15. T 9F b MER & AW 27 § T I6H SR

g T foRi® AR [ 1 O B STEA § 1
(A) nrl

(B) nrlh

(C) %nrQh

(D) T & *R T

The diameter of the base of right circular cone is
2r and its height h and slant height [ The
volume of the cone is.:

(A) nrl
(B) 'nrlh
(C) %nrzh

(D) None of these

16. T% d7 § 3 .40 e X 5 Fri T & AR & AT A
H aRe® Ml ST B, O 6% @ e @l S
M BRl ? 1

A bag contains 3 red and 5 black balls. If one
ball is taken out at random from the bag. What
is the probability that it will be Red ?

4803/(Set : D) P.T.O.
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17.

18.

19.

20.

(10) 4803/(Set : D)
ges - §

SECTION -B

s #ifse 76 3V2 s omfam e R 3

Prove that 3\/5 is an irrational number.

EERE p(x):x4—3x2+4x+5 &l EERE
gx)=x?-x+1 ¥ BRI 9 HOT HFHT AR
SRR IEIRIETI B 3
Divide the polynomial p(x)= x* —3x2 +4x+5
by the polynomial - g(x)= x2 —x+1-Find the

quotient and remainder.

TF €6l [ GaR W 5E YRR [ gs o e
Frraar R daR §.2:5 Hio @ g T & &1 3HH-Fa
R0 9 & 6 o @ FaE W & W fasd &
T Bl HIE B s S Hig 3
A ladder is placed against a wall such that its
foot is at a distance of 2.5 m from the wall and
its top reaches a window 6 m above the ground.
Find the length of the ladder.

g FiT - 3
tan 0 N cot©
l1-cot®6 1-tan®

=1+ secOcosecH

4803/(Set : D)
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21. T Jq @ R =@ ¥ 33.6 9F oftw B g9 @
A% ST IS 3
The circumference of a circle exceeds the
diameter by 33.6 cm. Find the area of the circle.

s - 9
SECTION —=C
22, B BT - 4
ave T g2 101
x4 1Y gl =D x=-1 y-2
Solve :

5 .1 _, 6 3

x-1 y-2 x-1 y-2

23. TF A qe, g Rex o & = 15 5/ gva g,
30 Rl &1 & g 9T SR A A H 4 €2 30
e @ &1 ST @ A ST i 4

4803/(Set : D) P.T.O.

(11) 4803/(Set : D)

Prove that :

tan 0 N cot©
l-cot6 1-tan®

=1+ secOcosecH
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(12) 4803/(Set : D)

A motor boat whose speed is 15 km/h in still
water goes 30 km downstream and comes back
in a total of 4 hours 30 minutes. Determine the

speed of water.

24. % 1, 4,7, 10, ...... 3 fhae ug fom SE, aife See
IrT 176 8 ? 4

How many terms of sequence 1, 4, 7, 10, ......

should be taken so that their sumis 176 ?

25. 9@ f95 @ g9 W Gl © @ el @ aEd
e Bl &, fo sl 4

Prove that the length of tangentsdrawn from an

external point to a circle are equal.

26. 98 oTJUN A &b fored - fREgel AL, -5) @R
B(-4, 5) @ Ham d@r t@Eve x99 9 fawifa g
2l 39 oo g & e i S| st 4

Find the ratio in which the line segment joining
the points A(1, -5) and B(-4, 5) is divided by the
x-axis. Also find the coordinates of the point of

division.

4803/(Set : D)
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27.

28.

29.

(13) 4803/(Set : D)

52 Tl P T TER | Bel T TF Teel § § TH qa
fepeT ST B W BN @ WIiehar Sd i (i) S
T H 969, (i) T B9 Fe 4

One card is drawn from a well-shuffled deck of
52 cards. Find the probability of getting (i) a king
of red colour (ii) a face card.

gis - §
SECTION - D

o W A § wEe 2t x-4=0 @
& i 5

Solve the equation 2x2 ¥ x24=0 by completing

the square method.

TF B ABC & T g el gom BC = 6 9,
AB = 5 8 IR ZABC = 60° ¥ U% 9H&Y BIgs &l
@ T [SEs 9o [RT 5T Bye @ o et
# 2 T 5
Construct a triangle ABC whose sides are
BC =6 cm, AB =5 cm and ZABC = 60°. Then

construct a similar triangle whose sides are %th

of corresponding sides of given triangle.
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31.

(14) 4803/(Set : D)
R #ifvT 5

‘/M =secA+tanA
1-sinA

Prove that :

wa =secA+tanA
1-sinA

YT
OR

1.5 1 &1 Th SAEHN TF sl & 2815 Hio &l i W
21 3GH @l ¥ AT & Ry @ =T A 45° Bl
et & SarE TR

A man 1.5 m tall is 28.5 m away from a
chimney. The angle of elevation of the top of the
chimney from his eyes. is 45°. What is the height
of chimney ?

Gol 7 G Il Ueh AR &fih b SR T I T
oT 31 ST B AT AT &1 o Wbl © ¢ 39
YHR S 3 B T SAGA ST il 5

A cubical block of side 7 cm is surmounted by a
hemisphere. What is the greatest diameter of the
hemisphere can have ? Find the total surface
area of the solid.
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32. Frefifed ool § wh o & FEmiE & e a9

oY fear ™ § 5
3 S99 @9 [11-13]13-15|15-17|17-19|19-21|21-23|23-25
(50 3)
CEIERIEE] 7 6 9 13 | 20 5 4
qe
T G ® qeal B a9 Y A i)

The following distribution shows the daily pocket
money of children of a school :

Daily Pocket |11-13113-15|15-17|17-19[19-21|21-23|23-25

money. (Rs:)

Number of 7 6 9 13 20 5 4

Children

Find the mean of daily pocket money of children.

ST

OR
T NG H 40 IRl B A = arel § e & &
TR

wrargar (Bl ®) | 18-27 | 27-36|36-45|45-54| 54-63 | 63-72

gfat & g 3 5 10 | 13 5 4
gt @ AT g S it
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The length of 40 leaves of a plant are measured

in mm and are given in the following table :

Length (mm) | 18-27 | 27-36 | 36-45 | 45-54 | 54-63 | 63-72

Numbers of Leaves 3 5 10 13 5 4

Find the median length of the leaves.
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